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Note : Question No. 1 is compulsory. Attempt 

any four questions from Question  

Nos. 2  to 7. 

1. (a) State whether the following statements 

are TRUE or FALSE : 4×1=4 

 (i) The water potential in the xylem is 

less negative than that in soil 

water. 



 [ 2 ] BBYCT–137 

D–3262/BBYCT–137 

 (ii) Ammonia is produced in the 

mitochondrion via glycine 

dephosphorylation during the C2 

cycle. 

 (iii) The production of fructose 1, 6-

bisphosphate is an irreversible and 

regulatory step in glycolysis. 

 (iv) Coffea arabica is an obligate short-

day plant.  

(b) Fill in the blanks : 4×1=4 

 (i) At full turgor w of a cell will  

be ______ . 

 (ii) Chemosynthetic bacteria utilize 

______ energy to synthesize food. 

 (iii) In cyanobacteria, nitrogenase is 

present in ______. 

 (iv) Phloem loading involves the 

translocation of photosynthetases 

from chloroplasts to ______.  
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(c) Match the items given under Column 

‘A’ with those given in Column ‘B’ : 

    4×½=2 

  Column A                     Column B 

(i) Liebig (1) 400-700 nm 

(ii) Sciophytes (2) Inhibitory  

     effect of O2 

(iii) Warburg’s  (3) Shade loving  

  effect  plants 

(iv) PAR (Photo- (4) Law of  

  synthetically  minimum 

  active   

  radiation)    

2. Differentiate between the following pairs of 

terms :   4×2.5=10 

(a) Imbibition and Plasmolysis 

(b) Photophosphorylation and Oxidative 

phosphorylation 
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(c) Malate-Aspartate shuttle and Glycerol 

3-phosphate shuttle 

(d) Active and Passive ion uptake  

3. (a) Discuss the photosynthetic mechanism 

operating in C4 plants with a well 

labelled diagram. 5 

(b) Describe the concept of apparent free 

space and how it influences nutrient ion 

uptake. 5 

4. (a) What is the significance of accessory 

pigments ? Provide an overview of 

carotenoids and carotenols. 5 

(b) Explain cyclic photophosphorylation 

with a suitable diagram. 5 

5. (a) Discuss briefly what you understand by 

competitive and non-competitive 

inhibition of enzymes. 5 

(b) Discuss the structure and function of 

mitochondria with a suitable diagram. 5 
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6. (a) Describe how gibberellin hormone 

affects plant growth. 5 

(b) Explain the mechanism of stomatal 

closure during water stress. 5 

7. Write short notes on any four of the  

following :  4×2.5=10 

(a) Water potential 

(b) Nernst equation 

(c) Respiratory quotient  

(d) Functions of cytokinins in plant 

(e) Heat Shock Proteins (HSPs)  
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 BBYCT–137 

foKku Lukrd (lkekU;) 

(ch-,l-&lh-th-) 

l=kar ijh{kk  

twu] 2025 

ch-ch-okbZ-lh-Vh-&137 % ikni dkf;Zdh vkSj mikip; 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % iz'u la[;k 1 vfuok;Z gSA iz'u la[;k 2 ls 7 rd fdUgha 

pkj iz'uksa ds mÙkj nhft,A 

1- (v) crkb, fd fuEufyf[kr dFku lR; gSa ;k vlR; gSa % 

4×1=4 

 (i) tkbye esa ty foHko e`nk ty ls de 

½.kkRed gksrk gSA 
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 (ii) C2 pØ ds nkSjku ekbVksdkWfUMª;k esa veksfu;k 

dk mRiknu Xykblhu foQkWLQksfjyhdj.k ds 

}kjk gksrk gSA 

 (iii) Xykbdksfyfll esa ÝDVkst 1] 6&fclQkWLQsV 

dk mRiknu ,d vuqRØe.kh; vkSj fu;U=d 

pj.k gSA 

 (iv) dkWfQvk ,jsfcdk ,d vfodYih vYinhfIr& 

dkfyd ikni gSA  

(c) fjDr LFkkuksa dks Hkfj, % 4×1=4 

 (i) iw.kZ LQhfr gksus ij dksf'kdk dk w ______ 

gksxkA 

 (ii) jlksla'ys"kh thok.kq Hkkstu ds la'ys"k.k ds fy, 

______ ÅtkZ dk mi;ksx djrs gSaA 

 (iii) lk;ukscSDVhfj;k esa] ukbVªksftust ______ esa 

ik;k tkrk gSA 
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 (iv) ¶yks,e Hkkj.k esa izdk'k&la'ys"ktksa dk 

gfjryod (DyksjksIykLV) ls ______ esa  

vfHkxeu 'kkfey gSA  

 (l) dkWye ^v* esa fn, x, enksa dk dkWye ^c* ds enksa 

ls feyku dhft, % 4×
 

 
=2 

             dkWye ^v*                  dkWye ^c* 

  (i) yhfcx (1) 400&700 nm 

  (ii) f'k;ksQkbV (2) O2 dk laneudkjh 

       izHkko 

  (iii) okjcxZ izHkko (3) Nk;kjkxh ikni 

  (iv) ih-,-vkj- (izdk'k& (4) U;wurk dk fu;e 

    la'ys"kh lfØ; 

    fofdj.k)    

2- inksa ds fuEufyf[kr tksM+ksa ds chp vUrj crkb, % 

4×2.5=10 

(v) var%'kks"k.k vkSj thoæO;dqapu 
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(c) izdk'k&QkWLQksfjyhdj.k vkSj vkWDlhdj.kh 

QkWLQksfjyhdj.k 

(l) eSysV&,sLikVsZV 'kVy vkSj fXyljkWy 3&QkWLQsV 

'kVy 

(n) lfØ; vkSj fuf"Ø; vk;u varxZzg.k  

3- (v) C4 ikniksa esa izpkyu djus okyh izdk'k&la'ys"kh 

fØ;kfof/k dks lqukekafdr fp= ds lkFk crkb,A 5 

(c) vkHkklh eqDr vodk'k dh ladYiuk vkSj fdl 

izdkj ;g iks"kd vk;u vUrxzZg.k dks izHkkfor djrh 

gS] bldk o.kZu dhft,A 5 

4- (v) lgk;d o.kZdksa dk D;k egRo gS \ dSjksfVukWbM vkSj 

dSjksfVukWy dk laf{kIr o.kZu dhft,A 5 

(c) pfØd izdk'k&QkWLQksfjyhdj.k dk mi;qDr fp= 

lfgr o.kZu dhft,A 5 

5- (v) ,Utkbeksa ds izfrLi/khZ vkSj vizfrLi/khZ laneu dk 

laf{kIr fooj.k nhft,A 5 
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(c) mi;qDr fp= dh lgk;rk ls ekbVksdkWfUMª;k dh 

lajpuk vkSj dk;Z crkb,A 5 

6- (v) ftcjSfyu gkWeksZu fdl izdkj ikni o`f¼ dks izHkkfor 

djrs gSa] bldk o.kZu dhft,A 5 

(c) ty ruko ds nkSjku ja/kzksa ds can gks tkus dh 

fØ;kfof/k dks Li"V dhft,A 5 

7- fuEufyf[kr esa ls fdUgha pkj ij y?kq fVIif.k;k¡ fyf[k, % 

4×2.5=10 

(d) ty foHko 

([k) uULVZ lehdj.k 

(x) 'olu xq.kkad 

(?k) ikS/kksa esa lk;Vksdkbfuu ds dk;Z 

(³) rki vk?kkr izksVhu (,p-,l-ih-)  

× × × × × 

 

 

 


